N = 0 &8 AF S & Al A
20209 &= =20l & L EFG |
SN MSNS Y
H: LY EZEZXH(sHoLp/H b HHE)
el SED YEXAA CEELE
SNBSS (BH) - MEAY - B2 ggi) @(ijf;lﬁ% HRE2
M= 20,207,490 13,605,045 6,602,445
= 15,000
Fag 1,000,000
Dl 1,460,469
& 3,883, 164
= 13,848,857
NYUEXEL(SHHYEAM/HYEA - HHE) 5,145,900 5,120,500 25,400
= 15,000
== 3,250,000
o 1,880,900
SEoh YEZxXxY 5,145,900 5,120,500 25,400
= 15,000
== 3,250,000
o 1,880,900
HYHEZ=x2H 95,900 74,100 21,800
201 B2 A 92,300 70,500 21,800
01 ARyl 51,500 39,300 12,200
= Ol & 51,500 39,300 12,200
OIARMRE &Xt 1,320,000& *2& 10 26,400
Oy E=2H =8 5,000
Oy E=x &Y A2 EH| 5,000
ORESNE LAME 35,000& *100A] 2+ 3,500
ORESIN EFHNEH 8,000& *300& 2,400
oXEIIE =52 100, 000& =128 1,200
OLREsS W EHMWH 400,000& x20H 8,000
02 =249 40,800 31,200 9,600
= 0l & 40,800 31,200 9,600
Ox=&d M SELE 6,000,000& *13| 6,000
OFXEE2Y FEHI 1,500& *4,0002| E1 6,000
OFX3d =2yl 3,500, 000& *2CH *13] 7,000
OFRXH HMBAN =2
100, 000& *2CH 13| 200
OdHd0tellt 8122 800,000& x12& 9,600
OOl =22 1,000,000& x12& 12,000
301 ot M= 3,600 3,600 0
09 SHAIAHIXES 3,600 3,600 0
= 0ff & 3,600 3,600 0




EAM: HEdEL
HFH: YA EZZZ S (sSHLSL/HS2A - HE)
CH9l: BEe Y EXEA CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
oEvdExEE HAKN PA
8,000 *50Y *34] 3 3,600
ST oioteltt AlE 22 20,000 16,400 3,600
201 LBt 49| 20,000 16,400 3,600
02 22293l 20,000 16,400 3,600
= 0 &F 20,000 16,400 3,600
OFRAYIM S5 22 20,000
OZHEHX <& 2 1,100, 000& x12& 13,200
O&88J] 2% uH 4,800,000& *1H 4,800
Ofx&F A 200, 0003 =44 800
OSgJ M =2 300,000 =44 1,200
Y HMAE= NSEZZ ) 30,000 30,000 0
= 15,000
= 15,000
201  LBt249| 30,000 30,000 0
= 15,000
= 15,000
01 At 2teltl 30,000 30,000 0
= 15,000
= 15,000
= 0l &F 30,000 30,000 0
= 15,000
i 15,000
OMNYYNAE=x NRELZ ) 30,000
= 15,000
= 15,000
DHENLAZ=0tItHIOI HS A (HEH) 5,000,000 5,000,000 0
= 3,250,000
i 1,750,000
401 AI&BIZ =208 5,000,000 4,200,000 800,000
= 3,250,000
= 1,750,000
01 Al&HI 5,000,000 4,200,000 800,000
= 3,250,000
= 1,750,000
= 0l & 5,000,000 4,200,000 800,000
= 3,250,000
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= 1,750,000
ODMHAHZ=0IIGEO0 HE A (HE) 5,000,000
== 3,250,000
o 1,750,000
HEIE(2L2H/HF) 15,000,070 8,484,545 6,515,525
Fag 1,000,000
J| 1,460,469
== 633, 164
= 11,906,437
HMSHAFL S XS 3,700,529 2,269,000 1,431,529
= 119,000
o 3,581,529
MN=gsia 195,000 149,000 46,000
201 282 A | 79,000 19,000 60,000
01 AR 22|yl 79,000 19,000 60,000
= 0l & 79,000 19,000 60,000
O detx=2H| 3,000
OUESHA=EE L 9 HE
100, 000& *30H4 3,000
OdYFC D48200 22 25,000
OdYFrC 24240l == 25,000
(©FINE= 51,000
OXN=stasl 2 &Yl Xt 51,000
202 04| 10,000 10,000 0
01 2L 10,000 10,000 0
= 0ff & 10,000 10,000 0
O=2WAH-l 10,000
203 YR 4,000 3,000 1,000
03 AMETYSETY| 4,000 3,000 1,000
= 0l & 4,000 3,000 1,000
OUxSHSHAI 2H 20,000& *10H *103] 2,000
OsSHEXNEHEE 2A 100, 000& *200H & 2,000
301 QetE M= 2,000 2,000 0
09 SHAIAHIXAZS 2,000 2,000 0
= 0l & 2,000 2,000 0
OAESHEU3 AHEA 50,0003 *10H 43| 2,000
307 QIz2tol & 100,000 0 100,000
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24 MsdE
Bu: MRS (SHLDB/US)
S MSHAMIHXA (e &
SA BB (AH) - HBAY - BA= (X o) ) HDE 2
| | OSHEXZY AES2] KA X 120,000
DEZ0FAEEEI| OF2HE 3,000 3,000 0
307 glztol A 3,000 3,000 0
04 QIZtHAIAIEE X 3,000 3,000 0
= 0l & 3,000 3,000 0
OE3a &I OFCH3 JH= XA 3,000
D3 EH 2Z0HE 5,000 5,000 0
307  glztol A 5,000 5,000 0
04 QIZIHAIAIHEE X 5,000 5,000 0
= 0l & 5,000 5,000 0
ONHEZ2TEIH BEZUE MaX& 5,000
ndzAMss 29 A& 214,579 140,000 74,579
307  glztol & 214,579 140,000 74,579
03 QIAEHNNEER2IHEES 214,579 140,000 74,579
= 0l & 214,579 140,000 74,579
ondzZid=s 22 XA 214,579
IEZAH=s3 38 MEXNsHa A 154,000 35,000 119,000
& 3,000
= 151,000
307  glztol & 154,000 35,000 119,000
& 3,000
- 151,000
04 QUZtHAIAIHEE X 154,000 35,000 119,000
= 3,000
= 151,000
= 0l &F 154,000 35,000 119,000
= 3,000
= 151,000
oM<=z 38 MsU3 Mzl XN 37,000
= 1,000
= 36,000
ON= MEHE HEUEH HE 56,000
& 1,000
= 55,000
Od= MEHM= i+ U3l 61,000
& 1,000
- 60,000
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A MEeds
H: MRIE(S}L2Z/HR)
9l MRHALE UK 2 CERT
SNBSS (BH) - MEAY - B2 (ggz::) @(ijf;lﬁ% HRE2
DAEZ0 SZEU3E 10,000 10,000 0
307 212t0l A 10,000 10,000 0
04 OQIZISHALAIRE E =& 10,000 10,000 0
= 0ff A 10,000 10,000 0
ONHEZHl 2= HEXA 10,000
IS H NEUS 10,000 10,000 0
307 212t0l A 10,000 10,000 0
04 OQIISHALAIRE E = 10,000 10,000 0
= 0ff A 10,000 10,000 0
OZEE3&E NEUSE =l XI& 10,000
AYEIHI 2EUS 10,000 10,000 0
307 212t0l A 10,000 10,000 0
04 OQIZISHALAIRE E =X 10,000 10,000 0
= 0ff A 10,000 10,000 0
OZ<EEI&EI dZUE Mz X 10,000
d=22dE=c3203 40,000 40,000 0
307 212t0| A 40,000 40,000 0
04 BIZHAANYEE 40,000 40,000 0
=04 40,000 40,000 0
Od=228 =203 M=zl XA 40,000
dEMNEL =AU 7,000 0 7,000
307 212t0l A 7,000 0 7,000
04 OQIZISHALAIRE B =X 7,000 0 7,000
= 0ff & 7,000 0 7,000
OdEMELES=AHUS 7,000
dENESHLUS 30,000 30,000 0
307 212t0l A 30,000 30,000 0
04 OQIZISHALAIRE B =X 30,000 30,000 0
= 0ff & 30,000 30,000 0
OdEMNESHLUHS M=l X& 30,000
AEQE 3203 15,000 15,000 0
307 212t0| A 15,000 15,000 0
04 OQIZISHALAIRE B = 15,000 15,000 0
= 0ff A 15,000 15,000 0
OdYE E32Ua M=l N 15,000
AMNET B E 30,000 30,000 0
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EAM: HEdEL
3 MSIE(2AL2F/AR)
el MSHAZL XA (=<
SH-EH. O (AN) - NRANY - B (X o) ) HDE 2
307 glztol & 30,000 30,000 0
04 QIZtHAIAIHEE X 30,000 30,000 0
= 0l & 30,000 30,000 0
OZ&aY: EHAZUSE H=El X3 30,000
=t S U3 7,000 7,000 0
307  glztol A 7,000 7,000 0
04 QIZtHAIAIHEE X 7,000 7,000 0
= 0l & 7,000 7,000 0
Ond==tl =Wz MK 7,000
4 otolieH CHal 250,000 290,000 A 40,000
= 50,000
= 200,000
307  glztol A 250,000 290,000 A 40,000
= 50,000
= 200,000
04 CIZIHALAIRE = 250,000 290,000 A 40,000
= 50,000
i 200,000
= 0ff & 250,000 290,000 A 40,000
& 50,000
= 200,000
OL4d OotolAeH THal JH=l X & 250,000
= 50,000
= 200,000
SOt =0al & ot 3,000 3,000 0
307 QIztol ™ 3,000 3,000 0
04 QIZ2tHALAIH E X 3,000 3,000
= 0ff &F 3,000 3,000 0
O=0teld=0Us &It dHl XA 3,000
HEI d=10ssW S0 215,000 180,000 35,000
= 5,000
= 210,000
307 QIztol M 215,000 180,000 35,000
= 5,000
= 210,000
04 QIZtHAIAIREE X 215,000 180,000 35,000
= 5,000
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el MSHAZL XA (2 :&A)
SH-EH. O (AN) - NRANY - B o) ) HDE2
04 QIZ2tHAIAIREE X = 210,000
= 0l & 215,000 180,000 35,000
& 5,000
= 210,000
OFEI d=1ssw =203 Mz XA 215,000
& 5,000
= 210,000
W2 =510 U3 50,000 50,000 0
307  glztol A 50,000 50,000 0
04 QIZtHAIAIHEE X 50,000 50,000 0
= 0l & 50,000 50,000 0
CunsI =510 FM=2U3 M= XS 50,000
SHAM=sU XA 193,000 0 193,000
= 1,000
v 192,000
307  glztol A 193,000 0 193,000
== 1,000
i 192,000
04 CIZIHALAIRE = 193,000 0 193,000
& 1,000
= 192,000
= 0l & 193,000 193,000
= 1,000
= 192,000
Os¥HMsEUHa XA 193,000
& 1,000
= 192,000
SERAFL20 d=25SEH 180,000 0 180,000
307  gIztol A 180,000 0 180,000
04 OQIZ2LHALAIH E X 180,000 0 180,000
= 0l & 180,000 0 180,000
o721 d=2d 180,000
d= AZEZIZ 3 80,000 0 80,000
307  gIztol A 80,000 0 80,000
04 QIZ2LHALAIH E =X 80,000 0 80,000
= 0l & 80,000 0 80,000
ON= NZEIDZ U3 80,000
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2AM: MEsdEL
H: MRIE(S}L2Z/HR)
e MEXsE2Hs (&t 3
i _ _ Arod 41 0 AF O _
SA .G (BH) - NEAY - HE= g};',goﬁ,,) Emg‘”ﬂﬁ) Hm=2
UBtME S XIS XF B X AFS 163,728 160,848 2,880
J| 81,864
- 81,864
307 Qiz2tol & 163,728 160,848 2,880
J| 81,864
= 81,864
02 QIZtAMAIEE =X 163,728 160,848 2,880
J| 81,864
= 81,864
= 0 & 163,728 160,848 2,880
J| 81,864
- 81,864
OYdBtME = A= X 8 X 163,728
J| 81,864
= 81,864
MEYWEXNZA ESXH 36,000 28,800 7,200
307 oI2tol & 36,000 28,800 7,200
02 DQI2ZIAAMAIEE X 36,000 28,800 7,200
= 0l A 36,000 28,800 7,200
OUBMETYEXNEA =X 36,000
HEANMEY S XS A B XA 109, 152 107,232 1,920
J| 54,576
= 54,576
307 oI2tol & 109, 152 107,232 1,920
J| 54,576
= 54,576
02 OQIZIAMAIEE =X 109, 152 107,232 1,920
Pl 54 576
= 54,576
= 0 &F 109, 152 107,232 1,920
J| 54,576
= 54,576
oA MEX S K At B X 109, 152
J| 54,576
= 54,576
HEMNMEHY XA =X 24,000 19,200 4,800
307 Qlz2tol A 24,000 19,200 4,800
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EAM: HEdEL
M HSME(2L2Z/H=)
thel: MEH=sad3t (e &
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
02 QUAHABLASEX 24,000 19,200 4,800
= 0l & 24,000 19,200 4,800
oz MEMsNEL &8s X 24,000
O M= S0tel XI& 6,600 5,488 1,112
= 3,300
= 3,300
307  glztol & 6,600 5,488 1,112
= 3,300
= 3,300
02 QUAHABLASEX 6,600 5,488 1,112
= 3,300
[ 3,300
= 0l &F 6,600 5,488 1,112
= 3,300
= 3,300
OZMAMESOtel K& 6,600
== 3,300
= 3,300
MEAdAEE XA 19,000 15,000 4,000
307 QIztol ™ 19,000 15,000 4,000
02 QIZBAAMNIEER 19,000 15,000 4,000
= 0ff &F 19,000 15,000 4,000
OXM=AE A2 K& 19,000
HESH3AY 675,327 199,327 476,000
J| 24,029
< 3,089
= 648,209
HEAESSHEE 2,000 2,000 0
301 etEdza 2,000 2,000 0
12 JIEt2 &= 2,000 2,000 0
= 0l & 2,000 2,000 0
OM=Eds"3A EE 100,000& 10 1,000
OTWNESRIAN HEF 100,000& 10 1,000
NERAEOREHZ S 12,000 12,000 0
307  glztol & 12,000 12,000 0
02 UAHABLASEX 12,000 12,000 0
= 0l & 12,000 12,000 0
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SN HSNSD
3 HSNS(SHYT/AS)
Sl HSSHAY CERE
SN HE B (BA) - MEAY - BHAS (ggj) @(ijf;lﬁ% HRE2
| | ODHRAHNDD 2% X 12,000
A2 0|SH MY 34,327 34,327 0
Il 24,029
= 3,089
= 7,209
301 detgd 3z 34,327 34,327 0
J| 24,029
= 3,089
= 7,209
01 MIBEE=HZ 34,327 34,327 0
J| 24,029
< 3,089
= 7,209
= 0ff &F 34,327 34,327 0
J| 24,029
& 3,089
= 7,209
OAEZAL 0|8A MY 34,307
Il 24,029
= 3,089
= 7,209
HEeZ2U2s4d 507,000 61,000 446,000
307 QI2t01 A 507,000 61,000 446,000
02 QB AAMHEX 507,000 61,000 446,000
= Ol & 507,000 61,000 446,000
OME32UR 4 XA 507,000
MEIMH XA 120,000 90,000 30,000
307 QI2t01 A 120,000 90,000 30,000
02 QB AAMHEX 120,000 90,000 30,000
= 0l & 120,000 90,000 30,000
S EEL R 120,000
HMEIIBLAIE &S ALY 8,120,000 3,665,000 4,455,000
s 1,000,000
Dl 1,300,000
= 500,000
= 5,320,000
MEAIE ALY 1,960,000 515,000 1,445,000
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EAM: HEdEL
M HSME(2L2Z/H=)
9l MRIIBAILSEAIY CERT
SH-EH. O (AN) - NRANY - B o) ) HDE2
401 Al&HI 20| 1,960,000 515,000 1,445,000
01 Al&HI 1,955,000 510,000 1,445,000
= 0l & 1,955,000 510,000 1,445,000
OaxnlE 23JI74X 200,000
oZg2sd Mz & 600,000
OAZ=ER2 HUAE SHE &X 55,000
ODNM=T OF& S XN (2&HH) 1,100,000
03 Al&=20bl 5,000 5,000 0
= 0l & 5,000 5,000 0
OMSIIBAIE S ALY AERUHI 5,000
MENSSATH(SLEUNSANETLAIY) 600,000 1,400,000 800,000
401 A&HIZ =08 600,000 1,400,000 A800,000
01 Al&HI 600,000 1,400,000 A800,000
= 0l & 600,000 1,400,000 800,000
OsUEM=EANE ZE4X 600,000
SSZUENSANEXNIA (DL OF2E Z&AY) 1,750,000 750,000 1,000,000
Fas 700,000
= 1,050,000
401 Al&HIZ 208 1,750,000 750,000 1,000,000
s 700,000
= 1,050,000
01 Al&UI 1,750,000 750,000 1,000,000
s 700,000
= 1,050,000
= Ol & 1,750,000 750,000 1,000,000
s 700,000
= 1,050,000
ODET OF7E =&AMY 1,750,000
ras 700,000
= 1,050,000
NENSZSE SEAY 10,000 0 10,000
401 A&BIZ =208 10,000 0 10,000
01 Al&HI 10,000 0 10,000
= 0fl & 10,000 0 10,000
HEMSANE B EZAMN S 10,000
BHCHHl MS 23t (I UMSHE (Z0HE)) 1,900,000 0 1,900,000
J| 1,300,000
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SN MSNED
HM: MINE(2I}L2Z/AF)
Ce: HISIIBLAIEESAIY (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
= 400,000
= 200,000
401  AIEHIZL20iH] 1,900,000 1,900, 000
J| 1,300,000
== 400,000
= 200,000
01 Al&H| 1,870,000 1,870,000
J| 1,280,000
& 394,000
= 196,000
= O & 1,870,000 1,870,000
Dl 1,280,000
== 394,000
= 196,000
OFEtCHHl MES23HE (2 MSHE (0
01d)) 1,870,000
J| 1,280,000
o 394,000
= 196,000
02 Zeltl 26,000 26,000
J| 18,000
o= 6,000
iy 2,000
= 0ff &F 26,000 26,000
J| 18,000
o 6,000
= 2,000
OBICHHl ME2stdH 22yl 26,000
Dl 18,000
== 6,000
= 2,000
03 AIES0Hb] 4,000 4,000
J| 2,000
= 2,000
= 0l & 4,000 4,000
Dl 2,000
o 2,000
Obttdl M=2s4E AlE 20| 4,000
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SN MSNED
HM: MINE(2I}L2Z/AF)
Ce: HISIIBLAIEESAIY (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
Dl 2,000
= 2,000
BICHH| ME 2B (ME254H) 900,000 900, 000
Fag 300,000
- 600,000
401 AIEHIZ204H] 900,000 900, 000
Fag 300,000
o 600,000
01 Al&H| 884,000 884,000
g 295,000
iy 589,000
= 0ff & 884,000 884,000
Fag 295,000
= 589,000
OBICIHl MES2StHE (ME235HMHE) 884,000
Fag 295,000
= 589,000
02 Z2ldl 12,000 12,000
rag 4,000
= 8,000
= 0l & 12,000 12,000
Fag 4,000
- 8,000
OFEICIEl MES2SHME (ME25H4EH) 202l
ull 12,000
Fag 4,000
= 8,000
03 AlIE&20idl 4,000 4,000
rag 1,000
= 3,000
= 0l & 4,000 4,000
Fag 1,000
o 3,000
OFEICIEl MES2SHME (ME235HHE) 201
i 4,000
Fag 1,000
= 3,000
& 2 2X0 800,000 800,000

B0l MS2tdE =8 =204
I
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SN MSNED
HM: MINE(2I}L2Z/AF)
Ce: HISIIBLAIEESAIY (e &
SNBSS (BH) - MEAY - B2 ggi) @(ijf;ﬁ% HRE2
401  AIEHIY20iH] 800,000 0 800,000
01 Al&H| 800,000 0 800,000
= 0l & 800,000 0 800,000
OBl M=Es234dH =8 T2o1d &
S X004 800,000
AHEE(HOIESHE) ZA(FEE FOUZO0 A 200,000 0] 200,000
= 100,000
= 100,000
401 AlEHIL201H] 200,000 0 200,000
== 100,000
o 100,000
01 Al&H| 200,000 0 200,000
& 100,000
= 100,000
= 0l & 200,000 0 200,000
== 100,000
= 100,000
OAHEH(HOEER) ZE(FLE Fal
ZH0d 0l &) 200,000
== 100,000
= 100,000
HSAE2Y 1,268,526 1,178,768 89,758
M= A 22 1,268,526 1,178,768 89,758
101 ol A H| 103,037 61,339 41,698
04 JIZtHZ2Z2XNSE 103,037 61,339 41,698
= 0l & 103,037 61,339 41,698
S3HSAIE FA2A2 A2 52,936
oJlea 68, 720& x2502! 2 H 34,360
OFs 4 % 68,720 x64 L x2H 8,797
OEgsEd= 43,157, 000& *12% 5,179
(@)= ESE=; 1,900, 000& »2H 3,800
O1nl=tl 100, 000& »2H x25| x2H 800
ONMSHAIDIZ2t SFEA HA 02
68,7203 90 x4H 24,740
OMSAEF=HY F L Hx o2
125,430& 60 x2H 15,052
O=2=0l& otd 22| o2 10,309
[OPIE=1=1 68,720 *30L *3H 6,185
o5 ¥ dx< 68,720 x5 *3H 1,031
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EAM: HEdEL
HM: MINE(2I}L2Z/AF)
e HMSAE2d (e &
SNBSS (BH) - MEAY - B2 (ggj) @(ijf;ﬁ% HRE2
Osgdazx2xg 68,7202 *1.5x10L »3Y 3,093
201 282 A | 522,489 420,729 101,760
01 At 2t2ldl 131,476 117,156 14,320
= 0l & 131,476 117,156 14,320
Ot =2H| 13,000
OFHIAIZ(ATI0ITO)  450,0008 *BTH 3,600
oEHs FRAS Y P
6,000& *200H x4 3] 4,800
OEMHELAs+2 8,880
Ond= sgesd 100, 000& x12& 1,200
O&lUixsa ¥ A2 170,000& = 12& 2,040
O9EZdIE ¥ 3AgH 170,000& x12& 2,040
OtiIH CisdsX3 2 100,000& = 12& 1,200
OGOl X & 2 100, 000& x12& 1,200
Odte =2 100, 000& = 12& 1,200
OXI|IctE 2 W2 19,176
Ondz sgesd 102,000& =128 1,224
Ond=z AUuxdMs= 118,000& ~12& 1,416
OAZLXEIR 298,000& 128 3,576
OHENE3E 150,000& = 12& 1,800
oLz dIH 300,000& x12& 3,600
OUIIH =22 X 2 (MSAA)
120,000& *12& 1,440
Odtol X & 2 150, 000& x12& 1,800
OLNEZMNEH 120,000& = 12& 1,440
OAZXEIS 17 & 120,000& =128 1,440
Os14d HsAA 120,000& =128 1,440
OAgotM 2L W2
182,000 x50 A~ x12€ 10,920
OZE2sd sLJIdME=E
150, 000& *2H A~ x12& 3,600
OZE2sE REES AEE
40,000& x12& 480
OMESAIE CCTV2L2 ==& 420,000& x12& 5,040
ONMSAIE HAE QHY 082
80,000 ~12& 960
OAUN=2 FJEA 48 =HE SAX
22l 11,000 x50| «12& 660
O&d=J|2el =25 60,0003 *x20H*12& 1,440
ogtY 2 100, 000& *2JH A~ *x63] 1,200
O&&I dLBANx=T 120
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24 MsdE
3 MSIE(2AL2F/AR)
o2 MSAESY (&9
x 5 - Ofl &k o4 X o 0fl Ak o -
SN (3H) - AR - BES (205 o) (31 = o) Hns2
O(F)aedesd 1,017&*2,441m° 2,483
OndZAUME2 1,017& *2,580m 2,624
ONEHNE3E 1,017& *7,680m 7,811
o9& IN&E 1,017&*2,215m° 2,253
ONd=ZMNEEH 1,0173 *1,434m° 1,459
OAHolE=ZE 1,017& 3,504 m 3,564
OAZXES 1,017& 7,848 m 7,982
OdtolH A = = 1,017& x706 M 719
OUIIHO=H =X 3 2 1,017& 1,202m 1,223
Osted =2 1,017& %4, 158 M 4,229
206 M=l 7,000 6,500 500
01 & HI 7,000 6,500 500
= 0ff &F 7,000 6,500 500
OMESAE 228 s P2
300,000& x105 3,000
O(R)BERSE SEES2, 02 Y
600, 000& *x5CH 3,000
Octeld| HRE R (BE . sd2sE, B
THIIE) 1,000
207 AN 60,000 0 60,000
02 & APIHEH] 60,000 0 60,000
= 0ff &F 60,000 0 60,000
OMSAE HIAAH 2= A 60,000
401 AIEHIZ 20 570,000 665,000 95,000
01 AI&HI 570,000 665,000 295,000
= 0ff &F 570,000 665,000 295,000
OololH Mesa E245 Wil 30,000
092 HOEEH WS 20,000
OZe HLAE Ald&E22 100,000
OAZLXES QHLHZ2HE A X 70,000
O9TZIE S35 uA 50,000
CAUNMESZ S4& Y= SA 20,000
OAEZXREE =Y NUSHOH AIAE EX 60,000
OAZXELIZ Y-ECCTV &X 90,000
OZ2sE MAEXL RNE+EH 100,000
OMSANES SAAC(ZMH, B ) 30,000
405  XHaHFE S 6,000 6,000 0
01 NHMELEEFHSHI 6,000 6,000 0
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A MEMED
PSP RIE(S}LEZ/HR)
CHel HSAa 2 (ct9l: &2
M- ZE B (3) - MRAY - BHAS ggi) @(ijf;ﬁ% HRE2
= 0l & 6,000 6,000 0
oxz A &I PR 5) 6,000
M =EHAH 29 655,989 557,709 98,280
SN =ELHdEHESY 616,089 392,809 223,280
101 [Slals] 169,549 137,269 32,280
04 JIZtHIZ2ZXNSE S 169,549 137,269 32,280
= 0l & 169,549 137,269 32,280
OS2I HESHE 22 oF 135,958
oJlz=s 68,720& 250 4 H 68,720
o5 % dxx< 68,720 x64 L x4H 17,593
Osdagqaxe 68,7203 x1 .5%57 2 x4H 23,503
OZA 2 A2tel4E
7,000&x102 x12& x4H 3,360
OBERE3 113,176, 000& *12% 13,582
O&E&d=Y 1,900,000& x4H 7,600
O1nl=dl 100,000& 28 »235| x4 H 1,600
Ox=g & MR A2 383,591
oJlz=s 68,720 250 *1H 17,180
O=F=% % dxx< 68,720 64 x1H 4,399
Osdazxaxe 68,7203 1 .5%57 x1H 5,876
OZXA & AIZ2EA S
7,0003 10 *12& x1H 840
OBEggE3 28,295, 000& *12% 3,396
(@)= RSE=; 1,900,000 x1H 1,900
201 282 A Y| 241,256 241,256 0
01 Ar®2telt] 40,650 40,650 0
= 0ff A 40,650 40,650 0
O LBt =H| 13,600
O EAES MEINE 42
300,000, 000& *3% 9,000
oOBoEASE2 150,000& = 12& 1,800
O&J|IotAE 2 =2 380,000& x12& 4,560
oOAgotAd2e =2 130,000& = 12& 1,560
OsZ)| tdAUNH =
220,000& 128 2,640
ORNMEYSES AMES 20,000& 128 240
OdLI|2e == 120,000& =128 1,440
ogYxxaz 100,000& *63] 600
OsZIZBA=x=2 120
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A MsdsH
FH: MSIE(2L2HZ/AK)
@2 SIMsSLHAH 29 (e &
SN HE B (BA) - MEAY - BHAS (ggz::) @(ijf;ﬁ% HRE2
OEDNY £=HAEHl HIZAAMNEER 750
OB HIIZAEEE 250,000& *2CH 500
OSIEA HEEE =HE SA22
11,0003 x90| x12& 1,188
Oz&EA HAEM FA 22
11,000& x11D[x12& 1,452
OALHOINE 3 100
OALHANE SEILEESE 1,100
02 =324l 200,606 200,606 0
= 0l & 200,606 200,606 0
oMII3(TVrtlg Zat)
9,200,000& x12& 110,400
oO&dl=E 22 2,700,000& x12& 32,400
(OFSE= R A= 50,000& *4 1 A~ x12& 2,400
OIMNEEE = 700,000 23] 1,400
OE e YL JIETEIT Al 22 7,500
OEAH2SIIF =87 XYl
500,000& =10CH 5,000
OY AR E =& X bl 4,000
OY XHAFR DI W Xl 40, 000& *2JH 2~ *20EA 1,600
OO0 RFAFH I WXl
40,000 %200 A~ x20EA*1.53] 2,400
O&EIIANE =87 XH| 10,000
Oogsrxd WAl 10,000& *200EA 2,000
O3 E+=Zx% uAl 200,000& *10EA 2,000
OnZZHME i Wil 600,000& *2EA*53] 6,000
OHAs =7 A 22l 2,034& *3,690m* 7,506
Od = dl 20,000
301 et M= 4,284 4,284 0
12 JIEIE A2 4,284 4,284 0
= 0ff & 4,284 4,284 0
O2IHNSHEH I XSALA (=40
HRE) 24 7,000 x3H x17 x12& 4,284
401  AIEHIZ20iH] 175,000 0 175,000
01 Al&HI 175,000 0 175,000
= 0l & 175,000 0 175,000
OSNESHAEH WdHds I ¥ LA
99 150,000
O2INFHE =& =stZ T uX 25,000
405  XHAHFE S 26,000 10,000 16,000
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EAM: HEdEL
M HSME(2L2Z/H=)
09 SSHSMEH 29 CER-E
SH-EH. O (AN) - NRANY - B (X o) ) HDE2
01 XaH=ESHSHI 26,000 10,000 16,000
= 0l & 26,000 10,000 16,000
ORSMSHEH Y & AR EIIF2L 6,000
OFSMSHH €2 217 #¢ 20,000
TMSHEHA L 22 39,900 164,900 A 125,000
206 M=l 14,900 14,900 0
01 & Hl 14,900 14,900 0
= 0l & 14,900 14,900 0
O=3F 2% 4ZE #+2 550,000& 55 *43| 11,000
O=g% ZH ux 1,300, 000& *33| 3,900
401 A&HIZ=R08I 25,000 150,000 A 125,000
01 Al&Hl 25,000 150,000 A 125,000
= 0l & 25,000 150,000 A 125,000
O3 & ZTZAMH WX 25,000
M SsHEH2E 195,299 252,253 A 56,954
ZeNSHH2Y 195,299 252,253 A 56,954
101 o4l 26,069 23,182 2,887
04 JI2ZtHIZ22HSE+ 26,069 23,182 2,887
= 0l & 26,069 23,182 2,887
O=0IHNSHE 22 22 26,069
OJlzs 68,720& x250€ »1H 17,180
O=% % ¢x=¥ 68,7203 x64 L 1Y 4,399
[@)=8= ==, 21,579,000& *12% 2,590
O8I &Y 1,900, 000& x1H 1,900
201 eI 119,230 119,071 159
01 AtRZeldl 35,890 35,891 A
= 0l & 35,890 35,891 A
ogt=2H| 35,890
OANEESFY 200,000& x12& 2,400
OstEEABEZFY 200,000& x12& 2,400
[OF=FEA=3—Euyel 200,000& x12& 2,400
OZeA=sSAMI(SEINEHUTY
250,000 x4 5 *23| 2,000
OZe=AI(SEI)EEIIERXN P Y 4,000
OZglE) &8 4 7Y
500,000& *23] 1,000
OBetgdxg 150,000& 123 1,800
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